1 B FEE

H & B & % 51500
JES - RARERZE 5lom
# = E iy B R E 260m
B - fR B = 182mi
k% (2) 66m
Jix # % 60ni
£ E %= 26nd
e i B 683nd
o5 EINIREGE  170m
ok B OB ZE O 11l
- 2% 108nd
= 2 2 50ni
& L B 10mi
% ) % l4nd
A oE (BET)  110nd
BRERKE (2) 40mi
k4 L (2)  49m

2P FEK

%1 RBIERE 5150
%2 RBIERE 5150
AU R = 374m

(55 3 Frhll R =)
S =T W WS R 206m
Bl - NEHEE 1070l
same | # OB R OE O 22
=0 — EREARE (2) 400
= ; fk ® = (2)  66n
L

E BHNRTE

B1FHHRTE

_69_



3RETFEX
I Ji, JE  258m
& Bk B E 1720
T W & B = 60m

s 5] U s
151 151 151 I
R
e 4
wrpEm |
=
A
M ™M M
E
n n n n

_’70_



